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With the first option having the top priority and the last option having the lowest priority. What is the
common way to describe how the project features should be prioritized according to the Agile
methodology?

A. 1 Must have features
2 Could have features

3 Should have features
B. 1 Must have features
2 would have features
3 Could nave features
C. 1 Must have features
2 Should nave features
3 could nave features
D. 1 Should nave features
2 wood nave features

3 could nave features

Answer: B

As a Tech Lead, you know that an Important aspect of code review to guarantee that the application for
charge This means that applications should be built to Simplify as much as any future that may
necessary Which of the following practices does not contribute to that objective?

A. Favor Aggregates over SQL elements when possible

B. Combine Ul and business logic the same module when possible.

C. Creating custom JavaScript should be avoided when possible

D. The Ul functionality should be split In different Blocks when possible

Answer: B

Before deploying an application to a target environment In Life Time, what does the Validate Now
button validate?
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A. If any running BPT processes will be affected and if the deployment will cause any inconsistency at
Database level in the target environment.

B. If the deployment Will compromise the Integrity of the target environment and If any running BPT
processes affected

C. If the deployment of the application Will compromise the Integrity of the target environment and
cause any broken or missing references

D. If the deployment will cause any broken or missing references, otitronststenaesatDatabaseevel,
environment

Answer: C

Consider the sentence: "Expected quality criteria should be well reflected In the Definition of Ready
(DoR) and Definition of Done (DoD) checklists”. Which of the following options is correct?

A. | disagree with the statement These checklists are manly project guidelines, Since quality criteria are
and hard to measure.

B. | agree With the statement These checklists represent the level of quality expected by the team at
Shaping and Building phases.

C. | agree with the statement However, in practice DoD has a much higher weight in terms than the DOR
D. | disagree With the statement The expected quality criteria are reflected on the User story
acceptance and how well they are met.

Answer: B

In the context of a project delivery, what the major goal of the Shaping phase?

A. Ensuring that the next Iteration starts With User Stories that are properly identified and detailed.

B. The Implementation and testing of the User Stories identified and detailed the Initiation phase.

C. The definition and detailing of User Stones from the Epics or High Level Stories identified during the
Initiation stage.

D. Ensuring that the team focuses on the User Stones that cover the core functionality of a feature (or
epic) first, and only then focus on the ones covering the details around it.

Answer: A

A deployment plan IS being executed from Development to Quality Assurance
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Which of the following options cannot be performed In Life Time?

A. Access the deployment Information, d I'm not the creator of the deployment plan.
B. Create a deployment plan for the same environments.

C. Create a new deployment plan between other environments.

D. Abort the current deployment.

Answer: B

Consider a scenario where you have an End-user module with several elements that are referenced by
consumer modules. You have the task to refractor the application, by extracting a new Core module
from the End-user module.

In this process, why should the consumed elements end up in the new core module?

A. To reduce the impacts on the consumer modules.

B. To force the consumers to refresh all dependencies.

C. To refactor business rules without losing their original definitions
D. To ensure that screen URLs are updated

Answer: A

When thinking about adopting an Agile approach, what is the best to way respond to the following
sentence?

"To fully benefit from the Agile methodology, Its principles should be strictly applied to an organization.”

A. Agree The Agile methodology provides extreme flexibility which will ensure the best fit to the
business and enable delivering the maximum value.

B. Disagree. The organization’s culture must be understood and the Agile method adapted to it, while
also accommodating any necessary learning curve.

C. Agree. The Agile principles have a long history of success, so the organization should fully adopt it,
regardless of its culture and background.

D. Disagree. Some organization’s culture and development methodology can not adapt to work with the
Agile principles, so they should not try to adopt this methodology.

Answer: B
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What is the best course of action when prioritizing User Stones for an Iteration / sprint?

A. Try to validate as many User Stones of the highest prioritized epic as possible.

B. Start with the most risky ones, Independently of the epic they belong to, to avoid breaking other
features later.

C. Cross the overall epic structure as much as possible, In order to get to the MP as fast as possible.
D. Select the User Stones that were derived from the available business users

Answer: C

When thinking about adopting an Agile approach, what IS the best way to respond to the following
sentence?

"TO fully benefit from the Agile methodology, Its principles should be strictly applied to an organization"

A. Agree The Agile methodology provides extreme flexibility which Will ensure the best fit to the
business and enable delivering the maximum value

B. Disagree. The organization's culture must be understood and the Agile meth" adapted to while also
accommodating any necessary learning curve.

C. Agree. The Agile principles have a long history of success, so the organization should fully adopt it,
regardless of its culture and background.

D. Disagree. Some organization’s culture and development methodology can not adapt to work with the
Agile principles, so they should not try to adopt this methodology.

Answer: B
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